| Efficiency vs Dxy |
0.5
S S N N T N T T
A SN R S S

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : :

@3B O s
T _E :
V] RS S S S JTEEN NI S S
0.25F it B
0.22_ ........................................................................
L] ot O SO St
oy TS IOt SUCSS e SOt S

||||.|lllllllllllllllllh. IIJIIII.IIII.IIII.IIII

L
a1
||||||||||

—25 20 15 10 5 O' 5 10 15 20 25
TP dxy (cm)

— —=— DQMstep3 TT_CKF
| Efficiency vs Dz |

—— DQMstep3 TT_CKF-tok

N 0.5 .
S 5 5 5 ; 5
D.45F - """""" """""" """""" """"""

5‘ E : : : : :
B0
@) r : : : . .
$0.35 P P rorneree AR
(5] - : : : : :

0.8
Y s
7 SOV NS A

B30 20 10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


